
A2
(part1)



A2
A2.1 

A2.2 

A2.3 

A2.4 



A2.1



A2.2

0

0

cos( )
cos( )

x x x

y y y

E A t kz
E A t kz

0

0

( ) ( )

( ) ( )

x x

y y

i t kz zi i t
x x x

i t kz zi i t
y y y

E A e A e e

E A e A e e

( )

( )

x

y

zi
x x

zi
y y

E A e

E A e

( )

( )

x

y

i z
xx

i z
y y

A eE
E A e

E –



A2.2

1
( )

( )

x

y

i z
xx

i z
y y

A eE
E A e

E

2
2 22 * 2 2

x y x yI E E A AE E E

3
( )

( )2 2

1 x

y

i z
x

i z
yx y

A e

A eA A
E 1

4

( )
[ ( ) ( )]

1
1

x x
y x

i z i
i z zyx x i

x

AA e A e
e e

A
E

( ) ( )y xz z - < < 0 y 0< < , y



A2.2

1 x

11
00

x
x

i
ix

x

A e
e

A
E

1
0

E

2 x

( )

( )2 2 2 2

cos cos1
sin sincos sin

x x
x

y

i z i
x i

i z
yx y

A e Ae e
AA eA A A

E

xie
cos
sin

E
x

A
y

Ay

Ax

xie



A2.2

t
xE

yE

X

Y

O

( )

( )2 2 22

11 1
2 2

xx x

y x

ii z i
x

i z ii
yx y

AeA e e
AA eA A eAe

E

11
2 i

E +i -i

2 2 2

11 1
1

x

y

i
x

i i
yx y

A e

eA eA A
E y

x

A
A

• I II
• III IV

(0, )
2



A2.3

1
1

1

x

y

E
E

E 2
2

2

x

y

E
E

E

† * *
1 2 1 2 1 2 0x x y yE E E EE E

1
1

1

cos
sin

E 2
2

2

cos
sin

E

†
1 2 1 2 1 2 1 2cos cos sin sin cos( ) 0E E

2 1 2

1

cos
sin

E 2

sin
cos

E



A2.3

1
iRE

1
iLE

1
[1   ] 1 1 0i

i
*
R LE E

12
11

11
1 ie

E1 2
2
2

2

11
1 ie

E2

* *
1 2 1 2 1 21 0i

x x y yE E E E e*E E1 2 ( ) ( )y xz z

1 2 1

1
1

1

y

x

A
A

2
2

2

y

x

A
A



A2.3

A
B

E

1

1 0
0 1

A
A B

B
E

2

1 1
2 2

A A iB A iB
B i i

E

x

y



A2.4

•
•

x

y

E
E

E x

y

E
E

E

E PE 2×2 11 12

21 22

p p
p p

P

11 12 11 12

21 22 21 22

x x x y

x yy y

E Ep p p E p E
p p p E p EE E

E PE
11 12

21 22

x x y

x y

E p E p E

E p E p E

P1,P2…

n 2 1E P P P E



A2.4

1 1/2

x y

x

y

E
E

E
i

xx i
ii i

yy

Ee E
e

e Ee e E
E x

i
y

E
e E

E

11 12 11 12

21 22 21 22

x x x y
i

x yy y

E Ep p p E p E
p p p E p Ee E E

1 0
0 1/ 2P

y 1/2
i

x

y

e E
E

E 1 0
0 1/ 2P



A2.4

1 1/2

x — x

y

x'
y'

cos sin
sin cos

x x y
y x y

cos sin
sin cos

P1

1 0
0 1/ 2Px'

-
cos sin
sin cos

P2

cos sin 1 0 cos sin
sin cos 0 1 sin cos/ 2 1P P P P

2 2

2 2

cos 2 sin 2cos sin 2sin cos
sin2 cos22cos sin sin cos



A2.4

2 1/4

x y /2

x

y

E
E

E
/2

x
i

y

E
e E

E 4

1 0
0 i/P

4

1 0
0 i/P

y y /2

/2
x

i
y

E
e E

E
x

y

E
E

E

x



A2.4

2

x

E

xE

yE

xE

EyE

cos sinx yE E E

( cos sin )cos

( cos sin )sin
x x y

y x y

E E E

E E E

2

2

cos sin cos

sin cos sin
x x y

y x y

E E E

E E E

2

2

cos sin cos
sin cos sin

x x

y y

E E
E E

2

2

cos sin cos
sin cos sin

P



A2.4

/4

2

2

1 1cos sin cos 1
1 12sin cos sin

P
1 0
0 i

P /4

1 0
0 i

P /4

1 0 1 1 1 0 11 1
0 1 1 0 12 2

i
i i i

P = P P P/4 /4

1 11 1 1
12 2 2 2( )

x y x yx x y

y x y x y

E iE E iEEi E iE
E

Ei iiE E i E iE

1 1 01
1 02
i

i i

oP
e

/4

e

o

/4

x

y



1

2

3

oP
e

/4

e

o

/4

x

y


